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3. 18a3h® = 3a%b x 2b = 7HHS] 5HH?

® 3ab @ 6ab? ® 12ab®> @ 3ab? ® 12ab®



6x-3y x+4y 4x-5y
2 3 6

4.

@ 2x+2y @ 2x-2y @ x+y

@ x+2y ® 2x+y



Al (Tx% = 5x 4 6) — (3x% — 2x + 4) S 7+H5] 5147

@ 4x2-3x+2 @ 4x2-3x+10 @ 4x>-Tx-2

@ 4x? -Tx+2 ® 4x2 —7x+ 10



ohe 412 e ey

5x — [By— {x— (2x—y)}]

@ x-y @ 2x-y ® 2x-2y

@ 4x-2y ® 4x -4y



7. (x+3)(x-2)+ (x-3)(x+5) & 7ks] 5}H?

® x®>+3x-21 @ x>+6x-15 ® 2x2+3x-15

@ 2x% 4+ 3x-21 B 242+ 6x—6






&% Qroll Solz 47} e A] Wt k2 2L

(x-Dx+2)=x2-[ -8

(—x+29)(x+[ )= -2 +4?
(a+2)(3a-4)=3a2+[ Ja-38
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2x + 1)2 :4x2—|—|:]x+1
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xhy-2)(x+y+2) =2+ hy+y>-4



2a%b + 3ab? _ 4ab - 5b2
ab b
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10. o= 4 = 9]

® -2a+8b @ —2a-8b ® 6a-8b

@ 6a-2b ® 2a+8b



11. gs At & &2 A2?

@ 2a(3x+2) = 6ax+ 2a

@ (2ab +3b) + g = da + 6b*

® (8x* —12x) + (—4x) = -2x+3

@ 2x(3x—1) = 3x(4 - x) = 9x? — 10x

® 3x(—x+2y—4) = 3x% + 6xy — 12x



12. x=2yd o), 1 2 o) gre 75 (% x£0, y#0)
X+y x-y
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13. o5 F (2x+3y+1)(2x - 3y + 1) HIEA AT AL2?

@ 4x?+9y? —4x+1 @ 4x?-9y? +4x+1
@ 4x? +9y? +4x+1 @ 4x? -9y —4x+1

® 4x2-92 +1
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@ x2-3x-4

@ 5x+8

® 2x24+x+1

® 2x2-5x+4

@ x*>+3x-4



2\ 3
x) X (3)° ©] 72

@ 27 ® 35



17. x+y=30°]1,4A=2>, B=2% 4 o, AB o] F27?

O 22 @ 24 @ 26 @ 28 ® 20



18. (a®)*x (b*) xax b® = b o] AP uf, xy 9] gH-o?

@ 4 @ 5 ® 6 @ 7 ® 8



19. o2olA x+y+z 9 F&& FoHH?

o (a®)?x (a®)* = a'8

@15 @16 @17 @18
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20.

(%)7%1 . m + ]

@ 6 @ 9 ® 11 @ 16 ® 17



